Total No. of Questions : 5] SEAT No. :

P1053 [Total No. of Pages : 4
[5204]- 1001

ML.A. (Part - I) (Semester - I)
ECONOMICS
Micro Economic Analysis - 1

(2013 Pattern) (Credit System) (Compulsory)
Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3) Answer should be precise and to the point.
4) Answer each question in 250 words.

Q1) Explain the basic micro economic problems of scarcity and choice. [10]
OR

What is the relationship between market and price mechanism?

02) Discuss the Diminishing Marginal utility theory with suitable example.  [10]
OR

Show the Income effect in the indifference curve with the help of diagrams.

03) Explain the types of Income elasticity of demand. [10]
OR

Discuss the law of variable proportions and the concept of returns to scale.

04) Explain the Cobb-Douglas production function. [10]
OR

Explain how the long run average cost curve of a firm is of envelope shape.

PTO.



035) Explain the stages of production in the short run. [10]

OR
What are the problems associated with the measurement of social welfare.

R R
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Total No. of Questions : 5]

P1053
[5204]- 1001

M.A. (Part - I) (Semester - I)
ECONOMICS
Micro Economic Analysis - I
(2013 Pattern) (Credit System) (Compulsory)
(Wt wuTaR)
ez 3 ara] [TEor U7 ;50
gaAr - 1) @ 9T ATTVIE ATEA.
2) IwdtBSier 3 guf quT FIAATa.
3) Y& TEETE 250 FreaTa I forgl.
4) @Fulardt ges U FITUlFET UgTa.

T 1) grwan arfor fHerdiean qaya 9en AvHa aueat T . [10]
feRan
AR AT FRAaa=on ieardiel Hae & 3 ?

o7 2) e Haid U fegiaren ana IgTgunEg aet o, [10]
feman
HATFATeAT TR FHA AT Ica TRUMH FrEra.

Tp7 3) WITUTeAT Icas erateehae T T . [10]
ferent

797 4) HE — TAA IATEA HeT T H0. [10]
feRan
IUTET FEATT STeehTeA I TATEL T Aok ATIA TR hl ATAT, d TAT 0.



97 5) SACURTSTATA ScATSATIT AT TASIRIUT T, [10]
Tehan
AU shearur Tt e wwen wroren ?

®E R
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Total No. of Questions : 5] SEAT No. :

P1054 [Total No. of Pages : 4
[5204]- 1002

ML.A. (Part - I) (Semester - I)
ECONOMICS
Ec-1002: Public Economics - 1

(2013 Pattern) (Credit System) (Compulsory)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3) Answers should be precise and to the point.

4) Answer in 250 words each.

Q1) Explain the concepts private goods, public goods and merit goods. [10]
OR

Explain the role of government in organized society.

02) Discuss the factors determining the ability to pay tax. [10]
OR

Explain the pure theory of public expenditure.

03) Explain the theory of club goods. [10]
OR

State the causes of increasing public expenditure.

04) Review the reforms in expenditure budgeting. [10]
OR

Explain the voluntary exchange models.

PTO.



05) Explain the problems of double taxation. [10]

OR
Explain the contribution of samuelson and musgrave in demands revealing
schemes for public goods.

R R
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Total No. of Questions : 5]

P1054
[5204]- 1002
M.A. (Part - I) (Semester - I)
ECONOMICS
Ec-1002: Public Economics - 1
(2013 Pattern) (Credit System) (Compulsory)
(TSt FaiaR)
ez 3 ara] [Tzor 7oT - 50

geqr ;- 1) @d T97 A9 e,
2) IwdtBSier 3 guf quT FIAATa.
3) I IWH! T gRgg I@rEia.
4) Y% gEETEl 250 eI qigdl.
5) @euiarsl g U FvAaiAET GgTal.

Ty7 1) @ISTMt %], Aok q&q_ ST UIETEReR a%q dehedt fowg &, [10]
TeRan
O AHTCITEAe] TRl {HehT TIY .

Ty 2) Scd T FHUTia Uk geehret Tt . [10]
feman
Ak @aredT &g THegiarer TaSentun .

Ty 3) g aw (F19 TeE) T T ww. [10]
T
ATk W et HIu |,
97 4) @ATUTNA SATTUFARTAE GLRUTT ATSTAT TT. [10]
Teram

UTeSieh (TASTST) G101 — Faror gfqurre fargerwor .

3



T97 5) Tl HWOATSAT THE T H. [10]
Tehan
THIUAE STTUT AEUd Iid OTas-eh aEqaTeieal AU Tehel Taeie
(Scheme) IR FIY T,

R R
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Total No. of Questions : 5] SEAT No. :

P1055 [Total No. of Pages : 4
[5204]- 1003

ML.A. (Part - I) (Semester - I)
ECONOMICS (Compulsory Paper)
International Trade (Ec-1003)

(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3) Answer should be precise and to the point.

4) Answer in 250 words each.

Q1) Explain the Heckscher. Ohlin theory of International trade. [10]
OR

Critically examine the comparative cost advantage theory of International Trade.

02) Explain the factors affecting terms of trade. [10]
OR

Explain in detail leontief paradox.

03) Discuss the extent of use of non-tariff barriers in International Trade.  [10]
OR

Discuss the comparative advantages and disadvantages of controlled trade.

04) Explain the important agreements regarding agriculture in WTO and its effects
on Indian agriculture. [10]

OR

Discuss the broad futures of 'Dunkel proposal'.

PTO.



05) What is intra - industry trade? Explain the factors determine intra industry
trade. [10]

OR
Comment on the changes in composition of the Global trade since 1991.

R R
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Total No. of Questions : 5]

P1055
[5204]- 1003

M.A. (Part - I) (Semester - I)
ECONOMICS (Compulsory) (Paper)
International Trade (Ec-1003)
(2013 Pattern) (Credit System)
(WSt waTaR)
ez 3 ara] [TEor U7 ;50
gaAr - 1) @ 9T ATTVIE ATEA.
2) IwdtBSier 3 guf quT FIAATa.
3) I IWH! T gRgg H@rEia.
4) Y% IW 250 IeqTd feorgT.
5) deulardt gw sas FvAafaeT ugrEl.

Ty 1) TR — Mgl A SATAWIg SR fsgia wawe . [10]
e
ATAWE AN G egiare feehmnes udierur &

97 2) SAUR I il U U U2 TIY . [10]
Tehan
fererfew=n femrenama wfeea @,
797 3) STAWTEIT SATIRTAIE STehTdaR ASYGATTAT SUTFTTR Tt ahl. [10]
Tehan

TAesita samuRTeaT getuTenes wRGaT-arearet gl .

97 4) SATfeeh SR HHeUIdIe S feraeeh HgTeamel il AT ol AR Sreiadiet
TR TIE . [10]
feran

3



97 5) STR IEANT SATIR TgUTS il ? TR ISANT AR fA{0r S0 wees @i [10]
Tehan
1991 Far wmferes IR TUTder SgeATer. 9T .

®E R
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Total No. of Questions : 5] SEAT No. :

P1056 [Total No. of Pages : 4
[5204]- 1004

ML.A. (Part - I) (Semester - I)
ECONOMICS
EC-1004 : Indian Economic Policy (Optional)

(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3) Answer should be precise and to the point.

4) Answer in 250 words each.

Q1) Explain the employment trends in organised and unorganised sector.  [10]
OR

Discuss the nature of poverty in Indian Economy.

02) Evaluate the social infrastructural development. [10]
OR

Explain the problems of Agricultural marketing.

03) Explain the role of public sector in Indian Economy. [10]
OR

Elaborate the problems of Health system in India.
04) Discuss the problems of Financing Infrastructure Development in India. [10]

OR

Explain the structure of Indian financial system.

PTO.



05) Explain the problems of Indian's Industrial export. [10]

OR
State the objective and limitations of monetary policy of R.B.I.

R R
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Total No. of Questions : 5]

P1056
[5204]- 1004

M.A. (Part - I) (Semester - I)
ECONOMICS
EC-1004 : Indian Economic Policy (Optional)
(2013 Pattern) (Credit System)
(WSt waTaR)
ez 3 ara] [TEor U7 ;50
geAr - 1) @F gv7 @isal.
2) IwdtBSier 3 guf quT FIAATa.
3) I IWH! T gRgg H@rEia.
4) Ycq® TFATET 250 IeGTd I fo7gT.
5) deulardt gw sas FvAafaeT ugrEl.

gy 1) Tadia Siun srEgdta Sardel TR et T8 . [10]
feman
TR referawadiel gTRgarean TawuTe! ol .

97 2) I GiEveat e geawmoE. [10]
Tehan
VAT ferourETeT TwEE Ty WL

797 3) VR AATARIAA FTTHeh ST YiHehT T H. [10]
femar
WRATAIA AR geadi=an auen faue .

797 4) ARaATde aranyy graen fowm fmgrasaean auer =t w9 [10]
feRan
R fasi gumet=i ©ET T0E .



gy 5) wrarea frenfies Fatdiean e we w5, [10]
T
W Tigreg seheat Hidieh SRUT= 38 9 Waier |,

®E R
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Total No. of Questions : 5] SEAT No. :

P1057 [Total No. of Pages : 4
[5204]- 1005

ML.A. (Part - I) (Semester - I)
ECONOMICS (Optional Paper - II)
Labour Economics - (EC - 1005)

(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3) Answers should be precise and to the point.

4) Answer in 250 words each.

Q1) Explain the nature, scope and importance of Labour Economics. [10]
OR

Explain the characteristics of Indian labour market.

Q2) Critically examine the "Modern theory of Wages". [10]
OR

Explain the concept of "Minimum Wage and Fair Wage".

03) Explain the causes and effects of Labour Migration. [10]
OR

State the concept of 'Absenteeism'. Discuss the causes of absenteeism of
Indian industrial labour.

04) Explain the growth and structure of labour union in India. [10]
OR

What are the causes of industrial disputes.

PTO.



05) Explain the child labour policy in India. [10]

OR
Discuss recent trends in female worker's policy in India.

R R
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Total No. of Questions : 5]

P1057
[5204]- 1005

M.A. (Part - I) (Semester - I)
ECONOMICS (Optional Paper - II)
Labour Economics - (EC - 1005)
(2013 Pattern) (Credit System)
(WSt waTaR)
& 3 ara] [Tzor 7oT - 50
gaAr :- 1) Td 97 aVIH ITEA.
2) ITEIHSIT 3 QT T AT
3) I IWH! T gRgg H@rEia.
4) I TcAbl 250 IreeT fergt.
5) deulardt gw sas FvAafaeT ugrEl.

g7 1) o1\ AITETS FEEY, SATH SATVT Tged TIY . [10]
feRan
WA 9H JeTRre SfSTs) Tug &,
97 2) Aaqren snyfie Regrar fewmmaes adigmr =, [10]
feRan

‘R Saa T I Aaq’ AT ThequTT Y R,

g7 3) o9 TAATATE HIOT SATIOT GHUTTH Tq8 . [10]
feman
‘utedel’ =it HheUUT TUY . WRATATA HGATRIh HTHehTeal STufeerdrean
HIUTE <= .



97 4) ARATde SR TEearen feamd o AT T . [10]
Teman
HRATATA TG SheTgTell ShIRUT SHIUTAT ?
T97 5) WRATATA ATl — SHTHTR &SR0T T8 . [10]
feRan
HRATATA & — TR RO Seiiehsean Tgiat =i &,

®E R
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Total No. of Questions : 5] SEAT No. :

P1058 [Total No. of Pages : 2

[5204] - 1006
M. A. (Part - I) (Semester I)
ECONOMICS
Mathematical Economics
(2013 Pattern) (Credit System)

Time :3 hours] [Max. Marks :50
Instructions to the candidates:

1)  All questions are compulsory.

2)  Answer should be Precise and to the point
3)  Figures to the right indicate full marks.
4) Use of Nonscientific calculator is allowed.

Q1) Answer the following question (any one) [10]
i)  Expand (2x+5)° Using Binomial Theorem
ii) Explain laws of set theory.

02) Answer the following questions (any one ) [10]
i)  Find the equilibrium price and quantity for the following markets
a) Q =-20+3p & Q,=220-5p
b) Q +32-7p=0&Q,-128+9p =0

ii) IfTR=1400Q - 6Q*and TC 1500+ 80Q Than calculate value of maximum
Profit, TR, TC, MR, and MC.

03) Answer the following questions (any one) [10]

i)  Find the Inverse of the matrix.

1 2 3
a) A={-5 -7 -4
2 1 3

PTO.



(1 2 34 .
C= 5 0 -5 ¢ |Verify A(BC)=(AB)C

04) Answer the following questions (any one) [10]

i) a) Ify=7x"-8x?find &
4 dx

d
b) Ify=(3x?-4x)’ find d_z using Chain rule.
i)  Find the first -order partial derivatives for each of the following function.
a) Z=8x*+ l4xy + 5y°
b) Z=4x3+2xy -7y’
c) Z=2w+8wxy-x*ty?

d) Z=6w+4wx + 3x*—7xy - 8y?

05) Answer the following questions (any one) [10]
i)  Explain the Cobb-Douglas production function.

i)  Determine the following Integrals.

a)  [9,ax,

b) j 4x(x +1) dx

® R R
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Total No. of Questions : 5] SEAT No. :

P1059 [Total No. of Pages : 4
[5204]- 2001

M.A. (Part - I) (Semester - II)
ECONOMICS
EC: 2001 - Micro Economic Analysis - 11

(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) Attempt all questions.

2)  Figures to the right indicate full marks.

3) Answer each question in 250 words.

4) Answer should be precise and to the point.

Q1) What is the perfect competition? Explain characteristics and short run

equilibrium in perfect competition. [10]
OR
Define Monopoly? Explain the short run and long run equilibrium of a firm in
Monopoly.
02) Evaluate the paretian optimality. [10]
OR

Define the Monopolistic competition. Explain equilibrium of firm in price and
non-price competition under monopolistic competition.

03) Define the oligopoly. Discuss the equilibrium in collusive and non-collusive
oligopoly. [10]
OR

Explain the model of Baumol's sales revenue maximization.

04) Discuss in details the 'Game theory' [10]
OR
Define the monopoly power. Explain the measures to regulation the monopoly
power

PTO.



05) Evaluate the Arrow's Impossibility theorem. [10]

OR
Explain the Marginal productivity theory.

R R
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Total No. of Questions : 5]

P1059
[5204]- 2001

M.A. (Part - I) (Semester - II)
ECONOMICS
EC: 2001 - Micro Economic Analysis - 11
(2013 Pattern) (Credit System)
(WSt waTaR)
ez 3 ara] [TEor U7 ;50
gaar ;- 1) &d 97 QISav Sravae e,
2) IwdtBSier 3 guf quT FIAATa.
3) IW YisFIT T gege HAT.
4) Ycd% T IV 250 IeTd HATa.
5) deulardt gw sas FvAafaeT ugrEl.

Ty 1) Yot Tt U 1 ? qui o IfETER oTfuT sTeuehTella Tdatel TUg . [10]
ferent
HFAQHIE STEAT AT, AFdGRIAIA ST TEATT AeThTe I o faHehtel I THaTe

TAY hll.

797 2) Werea gEFaaHdd JedHTI . [10]
e

gl JoFd TS SATEAT BT, ARl g eaddie fohaa ofrror fam fehwa
T STATEELET AHATA T8 .

g7 3) TR ST el. - HATUT fer T sreutferehirdtel saararet
<=t . [10]

fepent
TS fashl — OTHT HgwHT o IfaH T .

3



v7 4) T fasgmart wfaea gt &1. [10]

e
TEhRTTIERR TRt SATEAT BT, TehTIEhR Yok (Han Shivamdmeiel Sutd T
T
Ty 5) AT AvTHIAT THATS HEAHTIA . [10]
e
e scuTeeRar fasea W =L
® R R
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Total No. of Questions : 5] SEAT No. :

P1060 [Total No. of Pages : 4

[5204]- 2002
M.A. (Part - I) (Semester - II)
ECONOMICS
EC - 2002 : Public Economics - 11

(2013 Pattern) (Credit System) (Compulsory)

Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates:
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3) Answer should be precise and to the point.
4) Answer each question in 250 words.

Q1) Explain the classical view of public debt.
OR

Explain the corelation between public borrowing and price level.

02) Explain the role of fiscal policy for stabilisation.
OR

Explain the budget deficits and their implications.

03) Discuss the concept of balanced budget mulitiplier.
OR

Explain the centre - state financial relations in India.

04) Explain the major Direct and Indirect Taxes in India.
OR

Discuss the Non - Tax revenue of centre and state in India.

[10]

[10]

[10]

[10]

PTO.



035) Explain the fiscal federalism in India. [10]

OR
Explain the fiscal sector reforms in India.

R R

[5204] - 2002 2



Total No. of Questions : 5]

P1060
[5204]- 2002

M.A. (Part - I) (Semester - II)
ECONOMICS
EC - 2002 : Public Economics - 11
(2013 Pattern) (Credit System) (Compulsory)
(WSt waTaR)
ez 3 ara] [TEor U7 ;50
geAr - 1) @F gv7 @isal.
2) IwdtBSier 3 guf quT FIAATa.
3) I IWH! T gRgg I@rEia.
4) Y% T¥T 250 I55Td @il
5) deulardt gw sas FvAafaeT ugrEl.

Ty 1) AR HIATAT AATAATE GEhIUT TIY . [10]
fepent
HTAST(eh ot o fohAd qTaes! ATl T T .

Ty 2) SATieeh HATHLA TR SNRUTTE qfHhT TAY . [10]
e
STETSIUAGRTATA Ferdl TehR SATTUT et o TIg .

797 3) Tdeiia AT TUTeh Hehouel Tl . [10]
TeRa
WRATAT hg — ST faxie e T8 .

97 4) TRATAIA TcAed AT TTcAel ol TIY ol [10]
feman

3



97 5) \RATder TeeA famregaen Ty . [10]
T
HRATH A fORia SETdier GERu T .

®E R

[5204] - 2002 4



Total No. of Questions : 5] SEAT No. :

P1061 [Total No. of Pages : 4
[5204]- 2003

M.A. (Part - I) (Semester - II)
ECONOMICS
EC - 2003 : International Finance

(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) Attempt all questions.

2)  Figures to the right indicate full marks.

3) Answer should be precise and to the point.

4) Answer each question in 250 words.
Q1) Explain the balance of payments Disequilibrium and It's causes. [10]

OR

Discuss the policies for Internal and external balance.

02) Explain the purchasing power parity theory of Exchange rate determination.[10]
OR

Explain the benefits and problems of capital account convertibility.

03) Discuss the importance and role of foreign capital. [10]
OR

Explain recent trends of F.D.I. in Indian Economy.

04) Explain the role of non banking financial companies in international capital
movements. [10]

OR

Explain the origin and growth of eurocurrency market.

PTO.



05) Explain the functions and achievements of International monetary fund. [10]

OR
Evaluate the working of Asian development bank.

R R

[5204] - 2003 2



Total No. of Questions : 5]

P1061
[5204]- 2003

M.A. (Part - I) (Semester - II)
ECONOMICS
EC - 2003 : International Finance
(2013 Pattern) (Credit System)
(WSt waTaR)
ez 3 ara] [TEor U7 ;50
geAr - 1) @F gv7 @isal.
2) IwdtBSier 3 guf quT FIAATa.
3) I IWH! T gRgg I@rEia.
4) Ycq® TFATET 250 IeGTd I fo7gT.
5) deulardt gw sas FvAafaeT ugrEl.

97 1) SATERATATAT AT ST AT HROT T HA. [10]
TeRan

gy 2) fortaa g fAgeitdt asiie TrRet siert v faega e w0, [10]
feRan
HTEgaet WTeTaiel URadiaade wEae o THET T8 &,

97 3) Tacsht wisaedm™ wgea nfur feewt Tt &, [10]
e
TRATT AT A A TCTRSTAT HIBTATS USRI TATUIfheAT TRl TIY .

797 4) STAHT WISTATAT greraTetdiel soha faxiia shu-aret st Tg &4. [10]
T
AU T FTARTAT IATHIAT ATIVT FE&T TA .

3



97 5) ATAWEIT AT0E <t kil SATIOT 91 TIY . [10]
e
arfdran fererma sieheen wai™r YoaHTuA .

®E R

[5204] - 2003 4



Total No. of Questions : 5] SEAT No. :

P1062 [Total No. of Pages : 4
[5204]- 2004

M.A. (Part - I) (Semester - II)
ECONOMICS
EC - 2004 : Agricultural Economics

(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3) Answer should be precise and to the point.

4) Answer each question in 250 words.

Q1) Explain the effects of W.T.O. on Indian agriculture. [10]
OR
Explain the present status of Bio technology.

02) Examine the problems of Agricultural export and import after 1995. [10]
OR

Explain the role and tendency of micro finance in India.

03) Explain the problems of related to Agriculture labour . [10]
OR

Explain the problems of Agricultural management in India.

04) Examine the role of NABARD in Agricultural finance. [10]
OR
Explain the significance of SE2 policy in India.

PTO.



035) Explain the structure and Importance of the co-operative finance. [10]

OR
Explain the Tendency of Agriculture prodcutivity after independance period.

R R
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Total No. of Questions : 5]

P1062
[5204]- 2004

M.A. (Part - I) (Semester - II)
ECONOMICS
EC - 2004 : Agricultural Economics
(2013 Pattern) (Credit System)
(WSt waTaR)
ez 3 ara] [TEor U7 ;50
gaAr - 1) @ 9T ATTVIE ATEA.
2) IwdtBSier 3 guf quT FIAATa.
3) I IWH! T gRgg I@rEia.
4) TEF JeTET 250 FegTa I forgT.
5) deulardt gw sas FvAafaeT ugrEl.

o7 1) WTTftreh SAUR ToeAe AR Jdtaiiel TR T8 . [10]
feman
e gau ferdt Tose .

797 2) 1995 Sat=an WaHTA IEgeAl A& — At e gierun . [10]
e
TRATAE GEATTw Yrasare YiHeT 9 Tgxl T .

797 3) WRAE vraAsiean vewid fafay vween wee wa. [10]
Tehan
WRATATA HYT SHACATIATATA THEIT T Hl.

797 4) WRATAT Yt fSyiasTTdier ATaTeTat YiHehe UiNerT . [10]
e
WRATAT faoiw strfefer eivur &= "gca TU8 .

3



97 5) g THIQEs! AT 9 Hged T . [10]

TATAATR HIBTATE FH! JedTgehddie! Tt TIY .

®E R

[5204] - 2004 4



Total No. of Questions : 5] SEAT No. :

P1063 [Total No. of Pages : 4
[5204]- 2005

M.A. (Part - I) (Semester - II)
ECONOMICS
EC - 2005 : Industrial Economics

(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to candidates:

1) Attempt all questions.

2)  Figures to the right indicate full marks.

3) Answer each questions in 250 words.

4) Answer should be precise and to the point.

Q1) State and explain the nature and scope of Industrial economics. [10]
OR

What is Industrial combination? Explain the causes of Industrial combination.
02) Explain the sargent florence theory of Industrial location. [10]
OR

Explain the factor's influencing location of industries.

03) Explain in detail the factors affecting Industrial productivity and efficiency.

[10]
OR
Explain the importance of productivity in competitive environment.
04) Explain in details the forms of foreign capital. [10]

OR

Explain the different sources of Industrial finance.

PTO.



035) Explain the role of multinational corporations in India. [10]

OR
Explain the salient features of Industrial policy Resolution - 1991.

R R
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Total No. of Questions : 5]

P1063
[5204]- 2005

M.A. (Part - I) (Semester - II)
ECONOMICS
EC - 2005 : Industrial Economics
(2013 Pattern) (Credit System)
(WSt waTaR)
ez 3 ara] [TEor U7 ;50
geqr ;- 1) @d T97 A9 e,
2) IwdtBSier 3 guf quT FIAATa.
3) Y& TEETE 250 FreaTa I forgl.
4) IW AWHT T TEGT FATAI.
5) @GUIAIEt g FA1 FeTaAHT UgTal.

o7 1) SAtentires ALV TET o SATH TIY hEA GATT, [10]
feman
ST TR FARTIRTSRTUT TEUTS Sh1Y ? 3TENTiTeh WA IehIehIUTTE ShIRUT TUE .

g7 2) AN TARE et SATenfives Tererumen faegrare feemrare ufieror =, [10]
feRan
FETTeAT TATIHETRIUTTER IRUTH 0N U2 TIE .

97 3) SATefiren IcqTgehdal @ hIGTHAER TNUTH Sh{UTR Uceh AfaE T8 &, [10]
feRen
TR ATATAUTTA I ScdTgehde Wged TUT .
97 4) Uehia Wigaerel TehR Wl TI¥ . [10]
TeRa

et fergrasa fafaa wa e wu.

3



Ty7 5) g HETHSHTE! Nt ieht TIg . [10]
Tehan
1991 =1 3irenfireh &NRUT SAETA I Seoeh AT |,

®E R
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Total No. of Questions : 5] SEAT No. :

P1064 [Total No. of Pages : 2

[5204] - 2006
M.A. (Part - I) (Semester - II)
ECONOMICS
EC-2006 : Statistical Techniques
(2013 Pattern) (Credit System)

Time :3 hours] [Max. Marks :50

Instructions to the candidates:

1) Attempt all questions.

2)  All questions carry equal marks.

3)  Use of Non-programmable calculator is allowed.
4) Symbols have their usual meaning.

Q1) Compute the correlation coefficient between sales and profit of ten firms and

interpret it. [10]

Sales : 50 50 55 60 65 65 65 60 60 50

Profit : 113 14 16 16 15 15 14 13 13
OR

Discuss the merits and demerits of Median as a measure of central tendency.

02) Following is the probability distribution of a discrete random variable X. Obtain

the distribution function and expected value of X. [10]
X : 0 1 2 3 -
P[X=x] 0.15 0.20 0.25 0.30 0.10
OR

Discuss the meaning and types of Random (probability) Sampling?

03) A bag contains 6 white, 4 red and 10 black balls. Two balls are drawn at
random. Find the probability that they will both be black. [10]

OR
Explain the types of Estimators and their properties.

PTO.



04) Define the following terms:

a)
b)
c)
d)
e)

Random variable
Mutually Exclusive Events
Equally Likely Events
Complementary Events
Independent Events

OR

Explain different components of Time series.

05) Calculate standard deviation and variance from the following data:

X 20 22 25 31 35 40 42 45
F 5 12 15 20 25 14 10 6
OR

Define the following terms:

a)
b)
c)
d)
e)

Null Hypothesis
Alternative Hypothesis
Critical Region

Level of significance.

Type I error

R R

[5204]-2006 2
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Total No. of Questions : 5] SEAT No. :

P1065 [Total No. of Pages : 4
[5204]- 3001

ML.A. (Part - II) (Semester - III)
ECONOMICS
EC - 3001 : Macro Economics - 1

(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) Attempt all questions.

2)  Figures to the right indicate full marks.

3) Answer should be precise and to the point.

4) Answer each question in 250 words.

Q1) What is disposable income? Explain the relationship between income and
consumption. [10]

OR

Explain the uses and importance of National Income Accounting.

02) What is neutrality of money? Explain classical and keynesian approach. [10]
OR

Explain the classical approach regarding output and employment.

03) Explain the monetary transmission mechanism in classical case and keynesian
case. [10]

OR
Examine the concept of 'Liquidity trap' with the help of a diagram.

04) Explain the concept of super multiplier . [10]
OR

Explain life cycle hypothesis of consumption and saving.

PTO.



05) How 'IS' curve is drived? [10]

OR
Explain input-output system of national income accounting.

R R
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Total No. of Questions : 5]

P1065
[5204]- 3001
M.A. (Part - II) (Semester - III)
ECONOMICS
EC - 3001 : Macro Economics - 1
(2013 Pattern) (Credit System)
(TSt FaiaR)
ez 3 ara] [TEor U7 ;50

geAr - 1) @F gv7 @isal.
2) IwdtBSier 3 guf quT FIAATa.
3) IW AWH T GRGT AT
4) Y% T¥T 250 I55Td @il
5) @quIATsl g@ FA1 TeTaAET TgTal.

o7 1) TR Ieq TEUTS kil ? Ieasl ATV SUMAT AT el el TI . [10]
feRan
TE IUT AWTHRAT STINT o Uged TIY .

97 2) TOITEit AEEAAT TEUS T ? TATAAATE! SLITEIR 9 Thell AT TTEd goiehiA T
1. [10]

Temam

g7 3) TATAA NAVMEATATA A1 TLPUUT TAUM o T, hed AT AAVMETATA Trer=i
JEIYUT UM TIY AT, [10]

feman
‘UGt TS AT Hehod-ol TRl HERAT TRET0T .



797 4) WERIUThTET HeheUAT TIY . [10]
feman
SUMTT G St qaeien o ok UieheudT T8 .

g7 5) IS =erreit At weft 2. [10]
TeRar
THT IeUd AGTHRATH SATEH-USH Uegdt TIY .

®E R
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Total No. of Questions : 5] SEAT No. :

P1066 [Total No. of Pages : 4
[5204]- 3002

M.A. (Part - II) (Semester - III)
ECONOMICS

Growth and Development - 1

(2013 Pattern) (Credit System)
Time : 3 Hours| [Max. Marks : 50
Instructions to candidates:
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3) Answer each question in 250 words.
4) Answer should be precised and to the point.

Q1) Explain the problem in defining economic development. [10]
OR

Define economic growth. Explain the indicator of economics growth.

02) What is poverty? Explain the problem measurement of poverty. [10]
OR

Explain the impact of inequality on process of development.

03) Explain the Harrod - Domar Economic growth model. [10]
OR

Explain the Big-Push theory of Rosenstein - Rodan.
04) What is migration? Explain the causes of migration. [10]

OR

Explain the problem of urbanization.

PTO.



05) What is sex ratio? Explain the sex ratio of Indian populution. [10]

OR
Explain the characteristics of less developed countries.

& & &
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Total No. of Questions : 5]

P1066
[5204]- 3002
ML.A. (Part - II) (Semester - III)
ECONOMICS
EC - 3002 : Growth and Development - 1
(2013 Pattern) (Credit System)
(TSt TUTaR)
dez: 3 ara] [Tor 7UT ;50

gaqar ;- 1) @F g9 qigar.
2) ITFIHSIT ek TeATE GUI T FElfAard.
3) UA% 9T 250 IGId qigl.
4) I IAH! T YR AT
5) @eulasl ge U1 Y9AafIHT UgTe.

Ty 1) eridieh o= sarEan fvsita wvara JuT=an Jue TE . [10]
e
aTfeleR gedie saTean T ? e gediar FAcyre Tag .
g7 2) TG TEUTH R ? STRGATS WINTHTY ShvATd el THET TUY . [10]
e
T anfeies faera wfshaafier uftomm wue =&,

97 3) anidie gedia TWie SHR ATTHT TIE . [10]
feman
TS TeH i gereht Taegia e .
97 4) TAATHR TEUTH R ? TATAT! hIR0T TIY . [10]
fepan

ITE{IRUTI=AT |HET T8 .



g7 5) o uiR U T ? ARATe ke foRT TuiR T . [10]
Teram
JTeUTaeh fea ST SIS TUY .

R R
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Total No. of Questions : 5] SEAT No. :

P1067 [Total No. of Pages : 4
[5204]- 3003

M.A. (Part - II) (Semester - III)
ECONOMICS
Modern Banking (Core Course)

(2013 Pattern) (Credit System)

Time : 3 Hours| [Max. Marks : 50
Instructions to candidates:

1) Attempt all questions.

2)  Figures to the right indicate full marks.

3)  Answer should be precise and to the points.

4) Answer each question in 250 words.

Q1) Explain the detail functions of financial system and its role in economic
development. [10]

OR
Explain the principle of liquidity, safety and profitability.

Q2) State the provisions of the banking regulation Act, 1949. [10]
OR

Comments on the present status of co-operative banks in Indian.

03) What is mutual fund? Explain the advantages of mutual fund. [10]
OR
Evaluate the performance of LIC and GIC in India.

Q4) State the need and forms of foreign capital. [10]

OR

Explain the nature and role of foreign exchange market.

PTO.



05) Explain the present status and problems of E - Banking in India. [10]

OR
Explain the working and performance of IBRD since 1991.

& & &
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Total No. of Questions : 5]

P1067
[5204]- 3003
M.A. (Part - II) (Semester - III)
ECONOMICS
Modern Banking (Core Course)
(2013 Pattern) (Credit System)
(TSt TUTaR)
dez: 3 ara] [Tor 7UT ;50
gerAr ;- 1) &d 397 qisal.
2) ITFIHSIT ek TeATE GUI T FElfAard.
3) 3R A"l ST gEga Iaraid.
4) Tede FFETE I 250 IeqTd HETE.
5) @eYrarst g W FvIUlFHT UgTal.

gy 1) Tordta sorazer=it o enfur wreh st fererrardier gftret aferar Tog &, [10]
TRt
T, GAETAAT SATIVT ATHIGAT & qcd TIE .

797 2) 1949 =1 o sgaEma fiama sEede aiget |, [10]
fepan

97 3) WIeIAA HE TEUN hid ? eGHA HeTel Wae |l [10]
Teram
wRatdE gl wgmese (LIC) snfur wrda wmra fomn wgmes (GIC)
T HWARTS HEIHTI= .
97 4) uiha STt TR SATIUT TR TR [10]
Teram

foreett fafiwa s ToEu ATfor yftest T .

3



97 5) WRATAer §—sITehTet Tefeerdl SATiuT JeeaT T o, [10]
TeRan
1991 UTHR SIRTfeh Siehit ShTAUEEe! HTTUT HIARRT TIY T

R R
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Total No. of Questions : 5] SEAT No. :

P1068 [Total No. of Pages : 2
[5204]- 3004
ML.A. (Part - II) (Semester - III)
ECONOMICS
EC - 3004 : Demography (Non-Core Course)

(2013 Pattern) (Credit System)
Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Answer should be precise and to the point.
4) Answer each question in 250 words.

Q1) Explain the nature and scope of demography. [10]
OR
Explain the causes of population growth in developing countries.

02) What is Optimum population? Explain optimum population theory. [10]
OR
Describe various phase of the theory of demography transition.

03) What is meant by census? Explain significance of census. [10]
OR
Explain various causes of low sex ratio in India.

04) What is meant by density of population? Explain the factors deciding density
of population. [10]
OR
Write various effect of urbanization.

05) Explain the causes of migration in India. [10]
OR
Explain various factors affecting population distribution.

®E R

PTO.



Total No. of Questions : 5]

P1068
[5204]- 3004
M.A. (Part - II) (Semester - III)
ECONOMICS
EC - 3004 : Demography (Non-Core Course)
(2013 Pattern) (Credit System)
(vt wUTaR)
ez 3 ara] [Tzor gor: 50

ger:- 1) @F 97 qislav Hravae.
2) IwdtBSier 3 guf quT FIAATa.
3) I IWH! T GRYg H@rEia.
4) Yl FETHET 250 eqTd 3T forgT.

g7 1) ThETAT I L&y AT SITH TIE . [10]
feman
Tererasfier IoTTeter SehEEaT aTdie SR TIY .

97 2) UATH RO TEUN h1d ? UATH Ahaeadan e Tug &. [10]
e
ThEEAT HehAUT faeaiarean fafaer srasem=r auiT & .
797 3) ARIUMET FEUR T ? AU Hged TUse . [10]
e
AT forT TunR et ermvaTe fafay wror wE w0,

97 4) AhEEA gaT TEU i ? FAThaeaTt gt i o g2 Tag &, [10)]
feran
Tttt grom farfaer adtomm ferar.
97 5) ARATAer TIATaNTe hRUl TIY . [10]
feran
wreRaEat faraumear gdiomg o fafay gew e wa.

®E R



Total No. of Questions : 5] SEAT No. :

P1069 [Total No. of Pages : 4
[5204]- 3005

ML.A. (Part - II) (Semester - III)
ECONOMICS (Optional)
EC - 3005 : World Economy

(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3) Answer should be precise and to the point.

4) Answer each question in 250 words.

Q1) Evaluate impact of Globalisation on Indian Economy. [10]
OR

Explain the role of multinational companie's (MNC'S) in the world Economy.

02) Explain the role of Europeon union in global development. [10]
OR
Evaluate the performance of south Asian Association for Regional co-operation
(SAARCQ).
03) Explain the effects of disintegration of soviet union. [10]
OR
Discuss the role of organization of petrolium exporting contries in the world
economy.
04) Discuss Euro zone crisis and its impact on India. [10]
OR

Evaluate the working of ASEAN.

PTO.



035) Explain the place of china in world trade. [10]

OR
Discuss the effects of US debt crisis on world economy.

R R
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Total No. of Questions : 5]

P1069
[5204]- 3005
M.A. (Part - II) (Semester - III)
ECONOMICS (Optional)
EC - 3005 : World Economy
(2013 Pattern) (Credit System)
(TSt FaiaR)

ez 3 ara] [TEor U7 ;50

geAr - 1) @F g97 @isal.
2) IwdtBSier 3 guf quT FRAATa.
3) I IWH! T GRYT H@rEia.
4) Y% gEETEl 250 eI qigal.
5) @quIATsl g@ FA1 TeTaAET TgTal.

97 1) ARTIRIRIOTRl HRA HAeaaeday SiTeiedl TRUTHT HeawraT &l
feRan

gy 2) U= agerETet A faeardia gt s w0,
Tepam

gy 3) ®ifegue W feraearer uftomm e =,
e

v 4) IO geia TRETT Tai &ed el HRATEe TiRoms |e.
feman
gferor gd aferams evrrean waea=s (ASEAN) Heawmo .

3

[10]

[10]

[10]

[10]



97 5) AATfeeh SATURIAS S T T8 . [10]
ferent

®E R
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Total No. of Questions : 5] SEAT No. :

P1070 [Total No. of Pages : 4
[5204]- 3006

ML.A. (Part - II) (Semester - III)
ECONOMICS
EC - 3006 : Economics of Finance

(2013 Pattern) (Credit System) (Non - Core Course)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3) Answer should be precise and to the point.

4) Answer each questions 250 words.

Q1) Explain the role of financial sector in an economy. [10]
OR

Explain the functions of financial market.

02) What is meant by capital market? Explain the instrument of capital market.[10]
OR

State the difference between debt market, equity market, and financial serivce
market.

03) Explain the concept of portfolio and the role of capital asset pricing model.[10]
OR

What is meant by swaps? Explain the mechanics and types of swaps.
04) Explain the concept and types of option markets. [10]

OR

Define derivation and explain the types of it.

PTO.



035) Explain the structure of financial system in India. [10]

OR
What is meant by Return ? Explain the random variables and random returns.

R R
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Total No. of Questions : 5]

P1070
[5204]- 3006
M.A. (Part - II) (Semester - III)
ECONOMICS
EC - 3006 : Economics of Finance
(2013 Pattern) (Credit System) (Non - Core Course)
(TSt FaiaR)
ez 3 ara] [Tzor 7OT - 50
AT :- 1) @ T97 ATV 3R,
2) IwdtBSier 3 guf quT FRAATa.

3) IWR THFT T GHGT FATAI.
4) Y& TP I 250 TeaTd @il

v 1) ASTaRIdie o gt ekt Tg &. [10]
Teram
foritar e @ o w6
97 2) ATEad SR TEUTS ki ? WIgael ST |18 Ta8 . [10]
Teram

THAATAR, FAWRAT SR ATT foriie Tam ardiel wieh T8 .

797 3) SEAUAS HeheudAT HTUT Higae! ATermaT fohAd SfawmTe ekt g &wa.  [10]
e
Tomia AreAT= STTEATaE U hid ? T TR o 3 T8 .

97 4) vATE SR HeheudT SATUT TehR TUY . [10]
feRan
AGHSTT SATEAT &T. ATV T ThR TIF .



97 5) "ardter fomiar vegdien deeT Ty . [10]
Topan
ATETHTT UYATAT TEUTS h1dl ? ATGeaieh ool SATIUT ATgesieh UadTal T .

®E R
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Total No. of Questions : 5] SEAT No. :

P1071 [Total No. of Pages : 4
[5204]- 4001

ML.A. (Part - II) (Semester - 1V)
ECONOMICS
EC - 4001 : Macro Economics - II (Core Course)

(2013 Pattern) (Credit System)
Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:
1) Attempt all questions.
2)  Figures to the right indicate full marks.
3) Answer should be precise and to the point.
4) Answer each question in 250 words.

Q1) Explain the debate relating to definition of money [10]
OR
Explain fully the Gurley and Shaw hypothesis of liquidity.

02) Describe in details the Keynesian theory of demand for money. [10]
OR

Critically explain the quantity theory of demand for money.

03) Explain RBI's measures of money supply. [10]
OR

Explain in detail the theory of high powered money.

04) Explain fully the Hicksian theory of interest rate. [10]
OR

What is inflation ? Explain fully the concept of Demand Pull Inflation.

PTO.



05) Explainrules versus discretion in relation with monetary policy. [10]

OR
Explain Keynesian liquidity preference theory.

R R
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Total No. of Questions : 5]

P1071
[5204]- 4001
M.A. (Part - II) (Semester - 1V)
ECONOMICS
EC - 4001 : Macro Economics - II (Core Course)
(2013 Pattern) (Credit System)
(TSt FaiaR)
& 3 ara] [Tzor 7OT - 50
geAr - 1) @F g97 @isal.
2) IwdtBSier 3 guf quT FRAATa.
3) ucde® TEETET 250 eeTd I fo7gT.
4) 3T WS T GRYA SrATEia.
5) @qulersl e ST TPAIIABT TETAL.

o7 1) oTr=an SATEd Hedidier argfaare (debate) TIE . [10]
feman
T ATIOT I I A e Aok T .

o7 2) U9IT=AT HITUIEAT el AT faegarer wfeea quia o, [10]
ferent

797 3) wrarea fiereg soheit UvTeAT YEaSATH HIUS TS . [10]
Tehan
Seavradt dar Rregrara afeem wodteon <.

797 4) Teorm arean saTsTetean fsgrarer Afoear TsieRtuT . [10]
Tehan

TAATE TEUTS i ? "RTi amor fAfia emare an seheuqer afekay. TRt
.



Ty7 5) Semiaudeh SRt HeHia Haw fawesg Ehie e . [10]
e
AT EAT TEd (e Y .

®E R
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Total No. of Questions : 5] SEAT No. :

P1072 [Total No. of Pages : 4
[5204]- 4002

ML.A. (Part - II) (Semester - 1V)
ECONOMICS
EC - 4002 : Growth and Development - II (Core Course)

(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) Attempt all questions.

2)  Figures to the right indicate full marks.

3) Answer should be precise and to the point.

4) Answer each question in 250 words.

Q1) Explain the role of agriculture in economic development. [10]
OR

Explain the role of industrialization in less developing countries.

02) What is meant by fiscal policy? Explain the instruments of fiscal policy. [10]

OR
What is meant by import substitution? Explain the importance of import
substitution.
03) Discuss trade as an engine of economic growth. [10]

OR

Explain the types of international capital flows.

04) Explain the role of Government in economic development. [10]
OR

Discuss the various measures of poverty alleviation.

PTO.



035) Explain the role of IMF in the economic development. [10]

OR
Explain the role of infrastructure in economic development.

R R
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Total No. of Questions : 5]

P1072
[5204]- 4002
M.A. (Part - II) (Semester - 1V)
ECONOMICS

EC - 4002 : Growth and Development - II (Core Course)

(2013 Pattern) (Credit System)
(WSt waTaR)

ez 3 ara] [TEor U7 ;50

geAr - 1) @F g97 @isal.
2) IwdtBSier 3 guf quT FRAATa.
3) IW AWH T GRgT AT
4) Y% T¥T 250 I55Td @il
5) @gylardt gw U1 YvIulieT ugral,

Ty 1) anfeier forehmama v qitest g .
TeRan
CUTIRITT GIMATA HTEATRIRTUTTE H{HeAT TIE T

gy7 2) faxia oot g e ? foxfia aivorrei e s .
feRen

SATIATA GIT S0 FZUTH 1T ? AT TATH R0l Hged TUY o,

97 3) AR g At gede TRm’ o, amer w1
feRan

v 4) st fosET et fHeRT TIE .
feRan
giga Fem fawaes fafay sur=sERt ==t w0

3

[10]

[10]

[10]

[10]



gy 5) erieier forermaTdiel erawrgia Amurfefei wfest oy o, [10]
T
arTfefer TorerTama urenym o= qfiewT e .

®E R
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Total No. of Questions : 5] SEAT No. :

P1073 [Total No. of Pages : 4
[5204]- 4003

ML.A. (Part - II) (Semester - 1V)
ECONOMICS
EC - 4003 : Research Methodology

(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) Attempt all questions.

2)  Figures to the right indicate full marks.

3) Answer should be precise and to the point.

Q1) What is research? What are the difficulties in social science research.  [10]

OR

Explain the stages involved in designing research.

02) Whatis questionnaire? State and explain the merit and demerits of questionnaire.

[10]
OR
Explain various types of sampling.
03) Explain meaning and types of Dispersion. [10]
OR
Explain the importance of graph and diagrams in research.
04) Explain the importance and types of coorelation. [10]

OR

Explain the importance and types of global information sources.

PTO.



05) Explain the stages of research report writing. [10]

OR
Define Hypothesis. Explain the role of hypothesis in research.

R R
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Total No. of Questions : 5]

P1073
[5204]- 4003
M.A. (Part - II) (Semester - 1V)
ECONOMICS
EC - 4003 : Research Methodology
(2013 Pattern) (Credit System)
(TSt FaiaR)
& 3 ara] [Tzor 7OT - 50
AT :- 1) @ T97 ATV 3R,
2) IwdtBSier 3 guf quT FRAATa.
3) IWR AWHT ST YEgT HATAI.
4) HFuist ges S FeTaIAHRT TETe.

Ty 1) GINYR TgUS 1T ? THIAITE T AINYATAS ASAVN TI . [10]
feRan
HINEA IREST IR HOATATA 2 L H.

97 2) U TEUTS i ? UYATAE e T[UT SATIUT EIY TI . [10]
feman
T Fagien fafay vt we =,

g7 3) Teraemmen stet anfor wer wow &, [10]
feman

97 4) VgAY Hged 30T Teh TIT . [10]
feRan



97 5) WML ATl @Il qra=aT T8 ol [10]
TeRar
TiEaeRTel SaTEAT U WINYATT JiaewTe i T o,

®E R
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Total No. of Questions : 5] SEAT No. :

P1074 [Total No. of Pages : 4
[5204]- 4004

ML.A. (Part - II) (Semester - 1V)
ECONOMICS
EC - 4004 : Rural Development

(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) Attempt all questions.

2)  Figures to the right indicate full marks.

3) Answer should be precise and to the point.

4) Answer each question in 250 words.

Q1) Explain the importance of Rural development. [10]
OR

Explain the Gandhian approach to Rural Development.

02) Explain the problems of cottage Industry. [10]
OR

State the causes of rural Indebtedness.

03) Explain the causes of Rural unemployment in India. [10]
OR

State the remedies to remove poverty.
04) Evaluate the performance of tribal sub plan in India. [10]

OR
Explain the role of NABARD in Rural development.

PTO.



05) What is food security? Explain the need of food security. [10]

OR
Explain the causes of migration of rural population.

R R
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Total No. of Questions : 5]

P1074
[5204]- 4004
M.A. (Part - II) (Semester - 1V)
ECONOMICS
EC - 4004 : Rural Development
(2013 Pattern) (Credit System)
(TSt FaiaR)
& 3 ara]
AT ;- 1) @F T97 @IS0 ATa9aes HTEa.
2) IwdtBSier 3 guf quT FRAATa.
3) IW YisFIT T PG HAT.
4) ¥cdes TEETE I 250 Ieqia HEra
5) @qulersl e ST TPAIIABT TETAL.

[wgor gor: 50

gy 1) areiur farermame agea U .
Teram
Tigfstien IO foehTaTaTadan givhivT TUg .

¥ 2) HIRUGARTI=A THET TIY T
Tehan
PTHIOT HASTAR G SHROT T,

97 3) WRATAIer ATHIUT AehTiI=il SR Tq8 .
e
TTitga FfeamaTet suraaHT |,

[10]

[10]

[10]

97 4) ARaATdter fearEt SudsT e st (TSP) Yo . [10]

fepent

Frarset (NABARD) WRaTeat UTHi0T faehtamdier JiHeht Tute .



T97 5) SIS TEUTS hd ? A ieradel TS T . [10]
Tehan
JTHIUT FATRT=AT TAATATH SHIUT T .

®E R
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Total No. of Questions : 5] SEAT No. :

P1075 [Total No. of Pages : 4
[5204]- 4005

ML.A. (Part - II) (Semester - 1V)
ECONOMICS
Economics of Environment

(2013 Pattern) (Credit System)
Time : 3 Hours] [Max. Marks : 50
Instructions to candidates:
1) Attempt all questions in 250 words each.
2)  Figures to the right indicate full marks.

Q1) Explain the meaning, nature and scope of Economics of Environment. [10]
OR

Explain the effect of environment on economic Development.

02) Explain the environmental problems due to water pollution and air pollution.[10]
OR

Explain the effect of Global warming and climate change on human life.

03) What are the environmental problems arising due to technological changes in
agriculture? [10]

OR

What are the causes and consequences of forest depletion?
04) Explain the role of public and private sector in environment protection. [10]

OR

Describe India's environment policy towards environment protection.

PTO.



05) Explain the role of environment education in protecting environment.  [10]

OR

Explain the role and importance of pollution control boards in protecting
environment.

R R
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Total No. of Questions : 5]

P1075
[5204]- 4005
M.A. (Part - II) (Semester - 1V)
ECONOMICS
Economics of Environment
(2013 Pattern) (Credit System)
(TSt FaiaR)
ez 3 ara]
ger ;- 1) @d 97 qigar Feaehl 250 II55Td.

2) IwdtBSier 3 guf quT FRAATa.
3) ®@gylarst gw U1 TeTaAHT UgTa.

[wgor gor: 50

o7 1) uaierumer ALvmET 31, TWEY ATUT SATH T .
TeRa
aTteeR fererTaTaier UATeRu=l IRuTH T8 .

T97 2) T 9 el UGNUITHGS IQHAUTAT UATaRuE SHET €08 .
Toran

[10]

[10]

A SaATaie! TaTHETAIA dael JATIUT STRT ek dTOHTTE GHUTH T98 .

97 3) SN G qeege fator sierean geateruie g ot ? [10]

fepent
o faaTem=R ROl 9 gHuTH ST 3T ?

797 4) UATaTuT 0T AY ATAN ek o Wt gt st T8 &.

ferent
YHTeRUT QUM WRATS GATR0E SR 90 .

[10]



97 5) UATaRUT IO YATaRoT fSrervmeit it wag @, [10]
TeRar
TATERUT ST TGUUT THE0T HEaTel Hged & HiWeht T .

®E R
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Total No. of Questions : 5] SEAT No. :

P1076 [Total No. of Pages : 2

[5204] - 4006

M. A. (Part - II) (Semester 1V)
ECONOMICS
Econometrics

(2013 Pattern) (Credit System)

Time :3 hours] [Max. Marks :50

Instructions to the candidates:

1)  All questions are compulsory.
2)  All questions carry equal marks.

Q1) Find the multiple linear regression of X, and X and X, from the data relating

to three variable given below. [10]
X, 4 6 7 9 13 15
X, 1512 8 6 4 3
X 3024 20 14 10 4

3

X, = 16479 +0389 X, — 0.62 X,

OR

Explain nature of dummy variable and Regression on Quantitative and qualitative
variable.

02) What is autocorrelation ? Explain the method of detection and consequence,
of autocorrelation. [10]

OR

Explain stationary and non stationary of stochatic process.

03) Explain different models of time series. [10]
OR
Explain three stages least square as a method of Estimator of an over identified
equation.

PTO.



04) Explain the distribution of best linear unbiased estimator of the coefficient in
the linear regression model. [10]

OR

Explain vector Autoregreesive model.

05) Explain recursive model in the estimation of simultaneous equation model.[10]
OR

Explain use of dummy variable in Combining time series and cross sectional
data.

R R
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